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PERCENTAGE ASSIGNMENT

In every gram of gold, a goldsmith mixes 0.25 grams of silver and 0.05
grams of copper. What is the percentage of gold, silver and copper in

every gram of gold?

QIOUT(H &SPmbd  HRSHFHeVID, @ OuUTBESTELeL] 0.25 SHgmbd  Gleueier
BoIb  0.05 SHymbd STOFD HYSweBeNBS HEVSHBHBTT. eelbleuTm  &HFTD
FHRIBHPHVID FHEIBLD, GeleTel OBBID CFIDL 6l6leU6Te| FHADID 2 6iTeng)?

The price of an article was 1800 rupees last month. The price is reduced
by 10% this month .The shopkeeper says this price would be increased
by 10% next month. What would be the price next month?

QFsB WTHD @ QuTmeflesr alemev 1800 pumul. @K wWIHD 10% alamev

GBS (BeTeng. SibHS WWIish b ealmev 10% HsfHSLILGLD
TN HEWLSHBMIT FnBISMBTT. DIBHSH LOTHD 6leier alensy E(HEHEGLD?

Velan’s monthly income is % 10,000. He spends 60% of it on family
expenses, 10% on medical expenses, 5% on donations and saves by 25%.
Find the amount he spends on each item?

Gaueveiedt 1OTH aUHOTEID epUTUT 10,000. @60 60% GBIOUF OF6va|HESLD,
10% wmSHNF CFvasGHD, 5% BSOBTOLEHGW, 25% GCFOIIBEGWD
CFeval(BaDTT. QaICuTaNIBEGSD Sjeu] OFevMINsGHD OFHTEmHMUIS SHTEIS.

Rs 3500 is to be shared among three people so that the first person gets
50% of the second, who in turn gets 50% of the third. How much will
each of them get?

3500 emUTWI  cpeiTl  BUTHEHSEG USTHEHeidbaluL  Geuewi(hLb, (LPSH60
BUbHSG BrewiLmeud Buflar LmmasGUTed 50%  (pib B\ 60TL_TeUS|
BUBDE  cpeiipreugdl  Bufler  umemsBUTed  50% plb HedLSGID.
QAICUTHUHEHGHID  HleWLSHGD LRIGHOHTenHMUI  HT6wI5b.
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In an examination, the maximum marks are 900. A student gets 33% of
the maximum marks and fails by 45 marks. What is the passing mark?
Also, find the percentage of pass mark.

om GCxpjaled, HsUls WHIGUISET 900. @ LOTEwIEN] DIHSLLF
HUIGUeHeNed  33%  OQumm 45  WwFHIGUmIBaTd  BpTevailuient Smmy.
Cxpiisd wFliouewt eeitenr?  Gogud, CxHJFd  wWHUIOLET  FHaIHHMBHD
&6uTL_MlULIG|LD.

In a Maths Quiz of 60 questions, Amala got 90% correct answers and
Roger got 80% correct answers. How many correct answers did each
give? What percent is Roger’s correct answers to Amala’s correct
answers?

60 Gazealmel BT Sanllsh alamgaiamaled oweomr 90%  Ffluwimer
allemL_&B6M6ITULD, Gymegiy 80% gifluiment allemL_6mUIULLD CUMBM6T].
QaIOUT([HAUHLD  THHMe  FFlWITeT UHOHmeNF  CFTCITTTHET?  DILDELTE6HT
gflwmenr UHeosEHHEG Crregflest FFlwimer LHEOHT 1HHMT FHAIHLD?

5% income of A is equal to 15% income of B and 10% income of B is
equal to 20% income of C. If the income of C is Rs.2000, then find the
total income of A, B and C.

A @& 5% oeoumomend B @& 15% eumwraisHne B @t 10%
aumorernd C Bar 20% aumomaisSHB@d Fwow. C Sl auhoTed  mr.2000
oo A, B ppid C Qa1 Qongs aubOTaSHmSHd HT6IH.

A Man spends 40% of his income for his food, 15% for his clothes and
20% for house rent and saves the rest. How much percent does he save?
If his income is Rs. 34,400 find the amount of his savings.
RMmaIT b eumoTarhHew 40% o aveydssrsalb, 15% o L sastsad 20%
LB UTLEHETHaD OCFvalBHamrT. WaHamw GBFuildsleaprt. Sieu
auepomend ep 34,400 etefled, SleuT elelauena] GFLldademmmiT?

Ram's income is 20% less than Shyam's. How much is Shyam's income
more than Ram's in percentage terms?

adwimbelr  eU(HLTIHMS Il JToeT  eu@pomeid 20%  Gose). FHais
SlglILenLuled Jmdledl  6U(HIOTOIHMS AL OJUITIOGET  QU(HLOTEILD 616666
SIFHHID?

The difference between 42% of a number and 28% of the same number
is 210. What is 59% of that number?

Q@ erewtenielt 42% &G 9I8H eawienien 28%&H@GD o 6en aldhHwimgd 210
aafled, OIbFH eTawieniest 59% HTeuTcb.
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40% of 4.5+ x % of % = 20% of 10 then find the value of x

45a140% + % a1 X % =10 a1 20%61alled X @31 WHIemLS HEWILNSlLaLD

A’s salary increases by 20% and then decreases by 20%. What is the net
percentage change A’s salary?

A @& gibuemd 20% OFBNSH, eserny  20%
LTSI HS] FHaIH OTHBBLD ST ?

GOBEBSH. A Ga

The value of a machine depreciates every year by 5%. If the present
value of the machine be Rs. 100000, what will be its value after 2 years?

R BupbHrsHer A pWECHTHID 5% GCHUIOTRID iDL BB
oIHer HBCUTem W S 5100000, 2 su@mLd ey SiFHel WHIIL eTeireo?

An alloy contains 20% copper 40% zinc and the rest nickel. find the
grams the quantity of each of the contents in 1 kg of alloy.

R 2 Bourd sevedauuied 20% QFbL, 40 % HGHIHTHD WOBEID  BHID
Bépen. 1 FHBeom  Sevemeuuled 6lGeUT(H 2 66l SHLOLM(HeTe Siemene
&SImoed GMIHD

A team played 25 matches in a season and won 36% of them. Find the
number of matches lost by the team.

R0 UGBUSHO @h G 25 Bumiyser ealwenumGaBa. o0 36 %
Oleums] OUXBISIBGI. DIhSHD & GxpmevallenL h& Gum_1g serfleir
61600160011 EHEN BN SITEI0TS.
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